N SH4E2H228  ASNELHFEY:3A28 B4l SF4E38 118

o | ) o FEflit | L aE | xE
*7E (KT = I % 4 ¥ % 4 IE(EB IS ) gééé;ﬂf) TITH |HSEH Soh Sk IEZEOHME
BIER L=196m, £T —=, a9 )—+rJAYHIET
IF|KE| O |BERKEEIBIE (ME/NRET67TSHENER) =[R/NRET 15,929,000 | R4.98 TR |hR£E ABCD [A=69.0m2, /NALET N=4%FF, 124V KEEEIR L=120m, RZT
—=t
BIER L=247m, £T —=, av9)—+rJAYHIET
IE|KE| x |[EBRKEERIEEABEEINEBRMER) |SRMABETEAF 10,930,000 | R4.825 | K |mALiE ABCD A:36.0m2ﬁ§ﬁit#?‘§fﬁl V=21.0m3, /NALET N=285FF, HEKT
L=13.0m, RE&ET —=H
IH|KEF| x [ER-GTNKERBTSEGEEAIFHRIINBER) | =REHAHFELTARS 7,609,000 | R49.30 | A |THALE ABCD g;ﬁiﬁ;‘gﬁ"&gﬁ";ﬁ&ﬁE}Eéﬁi“ﬂié’ﬁ’ A=34mz2,
IH|KE| x |HERBKERIEIE(22-30) =Rit/MRET 5,849,000 | R41228 | TR |k aBoD [ O B O e e e ome. L
MIER L=250m(Ei#h), £ T —=, RZIT A=341m2, S&A
IH|KEF| x [AFRBKEFEBIEA0T-510) = RtTAFIET AR 5508000 | R41228 | tR |mpLiE ABCD Q“L:ﬁjﬁ)mﬁﬁ;gg*l_z'ﬁ;m} Egj‘ﬁi'i '-:_thm;f/‘%?‘_:*f
£ L=54m, #it Vv=1m3, IEAERI —=&
IE|KEF| x |[KBEKHKEEEIBEIE(506) =RMKHET 3,190,000 | R4.1228 | K |[mALE ABCDE |#iX V=169m3
MIER L=190m, £T —=, RET A=116m2, HZEAMNT
IE|KE| x [ZTEMKEEAIEAS) ZRTARMETER 3015000 | R4.1228 | A |[HALE ABCDE |L=48m, BEEHEK L=59m, BEBEEIR L=19m, TERAEKRIT —
EN
IH|%E| x |hH STELEEEETEQ) =@ /NEET 2568000 | Ra1228 | tk |Hraest aBoDE [ L, T R Ol
TH\®E| x [FNISEEATEEEANLEF)) = B AT 2210000 | Ras21 | tA |mALH aBopE [ETER Lobom £T 5 MLAATRL Loam ST
THE|KE| x |MHR-ALRBIEERIBTEC) ERMHRIETKE 1,887,000 | R41228 | AR |mAZE ABCDE Ezlffﬁmgmféﬂﬁmﬁﬁn géf_ ﬁiﬁfﬁ%ﬁgﬁf bf;t
<< << = MIER L=40m, £T —=, 3>7')—F7D‘y7$§1
IH|KF| x [MIKFEBIFCERAIZAIDIIR =RTAFMETFIAR 1,881,000 | R4627 | tK |[HRLHE ABCDE |\ 00m2. NOIET Ne2Bfh BT —ot
BIER L=80m, £ —= {REIL A=23m2, 5HEANT
IE|KE| x |TEBKEKEEIBIEGT) ZRMAMBETRE 1,649,000 | R4.1228 | K |HRLHE ABCDE |L=16m, #fa> 9 )—kJYa—LMmxE L=80m, TERAEKRT
—=
TH|%E| x |[EBREEIATEmEABEEERS) =R AATHAR 1514000 | R4630 | +K |2 apcpE |ELIER 1=200m £T =3t ARET A=dom2, HAHMENT
ITE|KF| x [ERKEEBIEERBESEKHEE) SEHAMRTRE S 1,378,000 | R4.6.1 TR RS ABCDE i?m%ﬁg;éméﬁli)—izi;w—|~7D\ybiﬁl(iﬁﬂ%m)
15| % KBREFMBEREKRELS ZRmAMEETE 12,249,000 | R4.6.29 fEK | fR£iE | ABCD PhkeiETE—K
16 | IT% LBANENAN IR ETE SRWREET B 14980000 | R4.7.28 | tA |=[Eihig| ABCD gg%ﬂfm":gggg i‘i'i’zzzﬁ%ﬁlﬁ;ﬂg;“ztjfﬁl V=17m3, K
(FK#EBN) BRI () ¢ 400 L=5.19m, BFAEEE
17| T% RABNE1HKERKEFHHRLE B-1TRK) ZRMAMEATE 11,468,000 | R4.8.15 TR | A% | ABCD L=9.5m, ;g;m: —=X, UBHILAA—HERT —=K, (F/kE)
eI —=x
s e =n . o [ARRE]ETER L=1959m, BETIL (400 L=158.4m, ,%I
18|T= ﬁ‘;‘mﬁm%ﬁ{% FKEHRLE (MERMIOZR | = mremmT g 53835000 | R4928 | tK fﬁmr‘ AB $600 L=283m, {f#HIL —=t, [BI:ﬁﬁ]?jEILE L=141.4m,
= BT ¢600 L=137.7m, {#&=T —=t




